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B RECKRICEIIREINIEHFEANILLD,

@D 40200m = | 40 km 200 m
@ 7kg 310g = 7310 g
@ 104t =| 104000 kg

@ 1080g =, | kg 80 g

® 7004kg =| 7 t 4 kg
® |km 600m = 1600 m
@ 1005m = | km 5 m

76kg =| 76000 g

@ 55000kg = 55 t

|00kg = | 100000 g

@ lkg 50g = 1050 g

@ 4km 90m = 4090 m

/24

@ 4430g = | 4 kg 430 g
@ 25000m = 25  km

® 240kg = | 240000 g
170t = | 170000 kg

@ 1100kg =| | t 100 kg
® 615009 = | 61 kg 500 g
6km 8m = 6008 m

@ 1100g = | kg 100 g
@) 10km 900m = | 10900 m
@ 30200kg = | 30 t 200 kg
@ 15kg200g =| 15200 g
@ 10300m = | 10km 300 m




